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Use the template provided to write and solve each equation given within the word problem.

Mia has 527 puzzle pieces, and she found 369 more

under the sofa. How many puzzle pieces does Mia have
in total?

Noah has 597 building blocks, and he bought 225 more
at the toy store. How many building blocks does Noah

have now?

Emily has 756 cookies, and she baked 87 more for the

party. How many cookies does Emily have in total?

Lucas has 698 hats, and he found 145 more in the

attic. How many hats does Lucas have in total?
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